
We will use the “paragraph” version.

\begin{tabular}{|p{2cm}|p{2cm}|p{2cm}|}\hline

1 1 1 1 1 1
1 1 1 1 1 1
1 1

2 2 2 2 2 2
2 2 2 2 2 2

3 3 3 3 3

Now we will use the “middle” version.

\begin{tabular}{|m{2cm}|m{2cm}|m{2cm}|}\hline

1 1 1 1 1 1
1 1 1 1 1 1
1 1

2 2 2 2 2 2
2 2 2 2 2 2

3 3 3 3 3

Now we will use the “bottom” version.

\begin{tabular}{|b{2cm}|b{2cm}|b{2cm}|}\hline

1 1 1 1 1 1
1 1 1 1 1 1
1 1

2 2 2 2 2 2
2 2 2 2 2 2 3 3 3 3 3

Now all three, “p”, “m”, “b”.

\begin{tabular}{|p{2cm}|m{2cm}|b{2cm}|}\hline

1 1 1 1 1 1
1 1 1 1 1 1
1 1

2 2 2 2 2 2
2 2 2 2 2 2

3 3 3 3 3

1


